PG-CS-1068 MCOS-11

P.G. DEGREE EXAMINATION —
FEBRUARY, 2023.

Commerce
First Semester
ACCOUNTING FOR MANAGERS
Time : 3 hours Maximum marks : 70
PART A — (5 x 5 = 25 marks)

Answer any FIVE questions out of Eight Questions
in 300 words

All questions carry equal marks.
1.  Define the term book keeping.
2. Calculate inventory turnover ratio from the data
given below :
Maximum Stock Level 3000 units
Minimum Stock level 1200 units
Re - order Quantity 1600 units

Issues during the year 8000 units



Write a Short note:
(a) Allocation
(b) Appointment

(¢) Absorption

Find out the marginal cost from the following:

Rs
Direct material 10,000
Direct wages 12,000
Direct expenses 13,000
Variable overheads 8,000
Fixed overhead 15,000

Distinguish between budgetary control and

standard costing.

Calculate Material usage or Quantity variance
from the following:

Standard: 400 units at Rs.10 each Actual: 360
units at Rs 7 each

What are the methods of preparing cash budget?
Explain them briefly.
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details given below.

Net profit for the year 2006-2007

Depreciation charged on fixed assets

Find out the funds from operations from the

Rs
95,000
42,000

Profit on sale of long-term investment
included in the P&L Alc

Goodwill written off

13,000
20,000

PART B — (3 x 15 = 45 marks)

Answer any THREE questions out of Five Questions

in 1000 words.

All questions carry equal marks.

9.  What are the methods of preparing trial balance?

10. The following figures relate to two companies:

Particulars X Ltd Y Ltd
Sales Rs.1,000 Lakh| Rs.2,800 Lakh
P/V Ratio 60% 50%
Fixed cost Rs.300 Lakh Rs.800 Lakh
Interest Rs.100 Lakh Rs.200 Lakh

Comment on the risk position of two companies.
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11.

12.

13.

What are the types of material costing?

Prepare a flexible budget for production at 80%
and 100% activity on the basis of the following
information :

Production at 50% capacity 5000 units

Raw materials Rs.80 per unit

Direct labour Rs.50 per unit

Factory expenses Rs.50,000 (50% fixed)
Administration expenses Rs.60,000 (60% variable)

Data relating to a job are as under :
Standard rate of wages per hour : Rs.10
Standard hours : 300

Actual rate of wages per unit : Rs.12
Actual hours : 200

You are required to calculate :

(a) Labour cost variance

(b) Labour rate variance

(¢) Labour efficiency variance.
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PG-CS-1069 MCOS-12

P.G. DEGREE EXAMINATION —
FEBRUARY, 2023.

Commerce

First Semester
MANAGERIAL ECONOMICS

Time : 3 hours Maximum marks : 70

PART A — (5 x 5 = 25 marks)

Answer any FIVE questions out of Eight questions
in 300 words.

All questions carry equal marks.
1.  Explain types of demand forecasting.
2. What is elasticity of supply.

3. What are the various factors that influence the
pricing decisions?

4. Explain uncertainty theory of profit.

5.  What are the causes of income inequality in India?



Describe the role of a managerial economics.
Explain the various concepts of national income.

Write short notes :
(a) Short run
(b) Long run

PART B — (3 x 15 = 45 marks)

Answer any THREE questions out of Five questions

10.

11.

12.

13.

in 1000 words.
All questions carry equal marks

Discuss about the characteristic features of
managerial economics.

What is equilibrium of demand and supply?
Explain them in detail.

Compare monopoly and perfect competition.
Describe the various methods of profit planning.

Define the term national income. What are the
uses of national income analysis?

2 PG-CS-1069



PG-CS-1070 MCOS-13

P.G. DEGREE EXAMINATION —
FEBRUARY 2023.

Commerce

First Semester
LEGAL ASPECTS OF BUSINESS
Time : 3 hours Maximum marks: 70

SECTION A — (5 X 5 = 25 marks)

Answer any FIVE questions out of Eight questions in
300 words. All questions carry equal marks.

1. Discuss the formation of an agreement.

2. What are the different kinds of consideration?
3. Write a short note on unlawful agreements.

4.  What are the different types of Law Agents?
5. Differentiate condition and warranty.

6.  Explain the different types of Companies.



7.

8.

Explain the functions of Competition Act 2000.

What are the main provisions of the payment of
wages Act?

SECTION B — (3 X 15 = 45 marks)

Answer any THREE questions out of Five questions in

10.

11.

12.

13.

1000 words. All questions carry equal marks.
“Contract without consideration is void”- Discuss.

Discuss the rights of an unpaid seller against
buyer.

Discuss the various modes of winding up of a
company.

Explain the Rights of Consumer as per Consumer
protection act 1986.

What are the Registers need to be maintained
under Factories act 1948?
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PG-CS-1071 MCOS-14

P.G. DEGREE EXAMINATION,
FEBRUARY 2023

Commerce

First Semester
INTERNATIONAL BUSINESS MANAGEMENT

Time : 3 hours Maximum marks : 70

PART A — (5 x 5 = 25 marks)

Answer any FIVE questions out of Eight
questions in 300 words.

All questions carry equal marks.
Explain few regulations of International Business.
Explain Porter Diamond Theory.
What are the different types of Joint Ventures?

> o

What do you mean by Tariff and Non-Tariff
barriers?

5. What all are ethical issues i1n International
Business?



6.

7.

8.

10.

11.

12.

13.

Discuss the Comparative Advantages Theory.

What are the functions of SAARC?

Write the functions of Foreign exchange Market.
PART B — (3 x 15 = 45 marks)

Answer any THREE questions out of Five questions
in 1000 words.
All questions carry equal marks.

What are the classifications of International
Business?

Discuss the International Trade Theories.

What are the conditions to be fulfilled for getting
the approval of foreign collaboration?

Explain about world trade in goods and services.

Discuss about negotiation and conflict resolution.
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PG-CS-1073 MCOS-21

P.G. DEGREE EXAMINATION —
FEBRUARY, 2023.

Commerce
Second Semester
ADVANCED FINANCIAL MANAGEMENT
Time : 3 hours Maximum marks : 70

SECTION A — (5 x 5 = 25 marks)

Answer any FIVE questions out of Eight questions in
300 words.

All questions carry equal marks.

1. Explain the approaches to Financial Management.

B35 CooramennsEsTan <iami@E, (PEDSHEMET 6l6Td:@Hs.

2. What are the objectives of Working Capital?

BanL_(panD epagarsdler @&hsCamer wmanel ?



Find out the Economic Ordering Quantity (EOQ)
form the following particulars.

Annual usage — Rs. 1,20,000
Cost of placing and receiving one order — Rs. 60

Annual carrying cost — 10% of inventory value.
fsasar yemenr Sjerellenar Gemeumd  efleurmhigafled
1/4 bl serLdlwaeb.

Qe LwerUm(h - 1,20,000

2O poar QHasHED
wHnib Cupeugh@worear gwa) - 1.60

@T(H Fo&EGD ey - 1 ard@E wdHibed
10%

The expected annual EBIT of X Ltd. Is
Rs. 1,40,000. The company has 8% debentures of
Rs. 4,00,000. The cost of equity capital is 10.5%.
Calculate the total value of the firm and the over
cost all of the Capital.

X A erdlruniss eam® eufl euligsE phansw
@emuns EHLIM 1,40,000 DG L. @QBs
Bineuensdlen 8% sLen Lgdrmsailer wHOL enLT
4,00,000 Y&b. @Qbs Hneuarsder LBIEG PSS
Qewa] 10.5% W@b. Qbs Hneiarsder marss
gpagarsdn@n Coeorar CQeweiler S Hlmieuarsder
Qrss WIS Samsdl(Hs.
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A Project Costs Rs. 20 lakh and yields annually a
Profit of Rs.3 lakh after depreciation at 12.5% but
before tax al 50%. Calculate payback period.

@M SLLID epuUTL 20 QL&D LOHNID AETHES
eRUML 3 L &b euhalml ml (&g, Caulnrarsdns,
Mp@ 12.5% womib euflE@ wer 50% @D bHS
AL gdler Hpbu QFasgisen ST Sarsdl(Hs.

What is the scope of Financial Management?

Hlg Ceomamenoudler LTI eremer?

A Company expects a net operating income of
Rs. 1,00,000. It has Rs. 5,00,000. 6% Debentures
and overall capitalization rate at 10%. Calculate
its value and equity capitalization rate under NOI
approach. When the debentures are increased to
Rs. 7,50,000 calculate the value of firm and cost of
equity.

@@ Bneiarsder erdiumiss Hlar Quéss eumeum
eRUML 1,00,000 Bibg Hmeiard er. 5,00,000-Ha&Ter
6% &Ler USSTD LOMID WPOHDYILTET  ELPEOSETLD
s 10% Y@, FoHlme Aposar lfHssmsub
Hlar Qu&s euHeumll em@GP@DaL SaTss (hs.
oMb sLef @  usdrmser e 7,50,000
<2dsilgsrd  oips  Hneegder  woy  wHHID

gwblened Liki@saflen allencenus bliamrudss.

Describe the different techniques of Inventory
Management.

6@  Blieurssdlenr  GQeucuGeum — mILUBISEmET
afeufégeyLb.
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SECTION B — (3 x 15 = 45 marks)

Answer any THREE questions out of Five questions in

10.

11.

12.

1,000 words.
All questions carry equal marks.

Explain the different functions of Financial
Management.

Bld Coeramanwuler LoGCeun Lamilaamer allems@s.

Explain the different methods of forecasting,
Working Capital Requirements.
Qeweur (@ epogar Csemeuew (e LIWETLHID
Sigen uOGeum (papasamer aflauil.

What do you mean by ABC analysis? What are its
merits and demerits?

S%@ UGUUTLG  eLpeLDd ﬁ}réw;eﬁ Sidleug wrg?
DIGET BETEOGET DHMILD GHEDHUT(H&ET WImg)?

Calculate Financial Leverage:

Installed capacity 2,000 units
Actual production and sales 1,500 units
Selling price per unit Rs. 15
Variable cost per unit Rs. 8
Operating Fixed Cost Rs. 4,500
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Capital Structure:

Equity share capital

10% preference share capital
12% debentures

Tax rate

Bl 2 58 el [Hs.
Blmieuiul L Smer

2 @renLwTer 2 HusS (1b)
flhuener

edlpuener afleneuder e s,
LIMIUL L L &5 elene
@Quss Hleew CFwe]
PLPESET SIELDLIL] :
Foblaned LIMiI@, ppeOSETDd

10% @perepflantols LimkiE
PGS EITLD

12% sL e Lugdrd
curfl eildlgd

Rs. 5,00,000
Rs. 18,000
Rs. 10,000

40%

2,000 sje@ser

1,500 <@ ser

em. 15

em. 8
em. 4,500

em. 5,00,000

em. 18,000

em. 10,000

40%
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13.

A company has to choose one of the two
alternative machines. Calculate the payback

period and suggest the profitable machine.

Machine A B
Cost of machine 1,50,000 1,50,000
Working life years 5 5
Profits before depreciation tax
1 Year 42,000 45,000
2 Year 48,000 45,000
3 Year 70,000 40,000
4 Year 70,000 50,000

5 Year 20,000 1,00,000

Rate of Income Tax 50%

o® Hyeasier Qrarh Gupdisde edops
Caireys Cawiw Ceuar®bd. Spbu CFQdgHibd Sreb
wHNID @erusyorer QubslTsamss sarss (Hs.
Guipdlyd =i b
1. €.
Qupdysder iLésb  1,50,000  1,50,000

LweTU(HID <3,687 (k) 5 5
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Caswibrerd wHmibd eufléEE@ phensw @emub :
1 e 42,000 45,000
2 ger 48,000 45,000
3 ek 70,000 40,000
4 g 70,000 50,000
5 g e 20,000 1,00,000

aumwrarelfl aldsb 50%
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PG-CS-1074 MCOS-22

P.G. DEGREE EXAMINATION —
FEBRUARY 2023.

Commerce

Second Semester
APPLIED COSTING

Time : 3 hours Maximum marks: 70

SECTION A — (5 X 5 = 25 marks)

Answer any FIVE questions out of Eight questions in
300 words

All questions carry equal marks

1. State the Limitations of Cost Accounting.
Qee| sasdlweien eurbLsmars @&HILLGLa|b.

2. Calculate the Material Turnover Ratio for the year
2018 from the following details.

Material Material

A B
Opening Stock 10,000 25,000
Closing Stock 6,000 17,857
Purchases 76,000 35,714

Determine the Fast Moving Material.



2018 yeawrghHaTar  Qum@mer  alHm  (PHED
M&lgsams Weraumd efleurhigefled(hhgl samssl_ayb.
Qumr@mer  Qumper

A B
<TdL @By 10,000 25,000
Qg Qmuy 6,000 17,857
Qamarpse 76,000 35,714

Ceusons BamD QuThenars STbreidsalb.

Apportion the Canteen Expenses to the
Departments. Canteen Rs. 50,000

F G H I
Number of Employees 500 200 150 150
Ca etarie 6ir CFeaellermisemer NS @H (S,
uglrbgefssea]b.
F G H I
Gsmflereisaflar eramanfisoms 500 200 150 150

State some industries where Process Costing is

applied.

Qeweperm Qgevay LweTU(hSsLLBHID e
Qamfldsamars @DlLGLaLb.
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ABC is a big player that operates in a very
competitive market. It sells packaged food to end
customers. ABC can charge Rs. 20 unit. If the
company’s intended Profit Margin is 10% on the
Selling Price, Calculate the Target Cost per unit.

ABC Wseyb Guriiy fleophs shaguier QeweLihibd
@@ Quilu &irr. Qg @md euMgsmswLITaTIEHEHESE
Qsr@ssiiul L o amael 6lhSmg. 98 ep. 20
3. Hmeuarsdler eru eupbL) ellhueamen allenauded

10% <5 QmbBsTed, @@ Wl (&smar Qass,
Qrveameld GHaursd (hni&ET.

Describe the various element of a Cost Sheet.

srevl aflger LG smmsmer efeuflése,ib.

A Total of 800 units were introduction into a
Process at a Cost of Rs. 30,000. Cost of Labour and
Overheads amounted to Rs. 26,000 and Rs. 16,000,
respectively. The Normal Loss is 10% of input,
which has no recovery value, Show the Process
Account.

eh. 800 Goewaeler Cwrssd  weflllsdr
Qeweaperpuiled @ MepsiubhssiulLear ep. 30,000.
Qamfleorert wHmd Gwaflae Cswael em. 26,000
wHmib . 16,000 weapGu. Queumear @il
o aefiiged 10% < @b. @& By wdiiy Geoame.
Qewdpery saTEamnss ST (hs.

What are the Benefits of Target Costing?

@& @ ClFellem HETENLDSEET CTETET ?
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SECTION B — (3 x 15 = 45 marks)

Answer any THREE questions out of Five questions in

10.

1000 words.

All questions carry equal marks.

Explain the different Methods of Costing.
QeucuGaum GFea| (papaamer allerd@s.

Senthil Ltd, has Purchased and Issued Materials
as under:

Jan

1 Stock 200 units at Rs. 2.50 per unit

5 Purchase 300 units at Rs. 3.00 per unit
7 Purchase 500 units at Rs. 4.00 per unit
10  Issued 600 units

12 Purchase 400 units at Rs. 4.00 per unit
18  Issued 500 units

24  Purchase 400 units at Rs. 5.00 per unit
28  Issued 200 units

Ascertain the value of Closing Stock under the
following methods:

(a) LIFO and
(b) FIFO
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11.

Clanbgled '@@%LDLD' OUGEUTBLSET auThEwg LHDID

aupmidlu ellupd Mereuhomm ¢

soareuil

1 @ Ly 200 Se@s6r garm en. 2.50 aigb

5 curaidlwg 300 Sj@sdT D@ arm ep. 3.00
Gigid

7 auraidlug 500 S@sea @ eearm 4.00
Gigid

10 aupmdlug 600 e @s6r

12 Gasrerapser 400 Sjo@ser germ ep. 4.00 aisb

18  aupmdlug 500 e @ser

24  amadlug 400 @ germ . 5.00 aigb

28  aupmdlug 200 e @&s6r

@mids Fy&E (L1 6t SlLienL Ep&FHesTL

pepsafleriiy sarsdl(Hs:

(1) LIFO whmib

(<) FIFO

From the following data given below you are
required to apportion the overheads to production
departments.

A B C D E

Direct wages 2,000 3,000 4,000 1,000 2,000
Raw materials 1,000 2,000 2,000 1,500 1,500
Employees (Nos.) 100 150 150 50 50
Electricity (kwh) 4,000 3,000 2,000 1,000 1,000
Light points (Nos.) 10 16 4 6 4
Asset value (Rs.) 60,000 40,000 30,000 10,000 10,000
Area occupied

(sq.m.) 150 250 50 50 50
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The expenses were :

Rs.
Motive power 550
Electricity charges 100
Warehouse charges 400
Labour welfare 1,500
Depreciation 15,000
Maintenance 3,000
General overhead 6,000
Rent and Rates 275

D and E are service departments. Apportion the
expenses of Department. ‘D’ in proportion to direct
wages and that department ‘E’ in the ratio of
5:3:2to department A, B and C respectively.
efl&siiur_(perer Y 6treu (HLd Qewiglaefled mbgl
2 HuSSH glmDsE Ceweygamer LI Thsalsse, .

el eu g6 A B C D E
Cprg. gnell 2,000 3,000 4,000 1,000 2,000
eIl LIM (T 1,000 2,000 2,000 1,500 1,500

uesflwumerenr ererent&ang 100 150 150 50 50

Weir emgend (HGemeurl) 4000 3,000 2,000 1,000 1,000
claTs@sdr erameanilsamas 10 16 4 6 4

CemgSar gy 60,000 40,000 30,000 10,000 10,000

S LTLILIGTG]
(s517 BLLT) 150 250 50 50 50
6 PG-CS-1074



12.

Qumgs e ser Yemeu )

€.
Quée s54 550
letr &3] 100
Sk &L Lenrbd 400
Qamflereri Heve 1,500
Ggimarb 15,000
ugmoliy 3,000
Qurg Cseeyger 6,000

uTLeng WHmib alldlsmhiser 275
4. @ <WFw Q@ sopsEpd Umils smmaarmELh.

“g” glewpullenr Qeaeasamear Chrlg. el algsHain “@”
geopler Osweysamer  wpapCw e, 14, &

D& EH&ES@ b 1 3 1 2 eran M&lgsSaid 1G9flGsab.

A products passes through two distinct processes
A and B and then to finished stock. 10,000 units
were issued to process A at a cost of Rs. 2 per unit.
The other expenses were as follows:

Particulars Process — A Process — B
Sundry materials Rs. 2,000 Rs. 3,000
Wages Rs 10,000 Rs. 16,000
Overhead expenses Rs. 2,100 Rs. 2,375
Actual output 9,500 units 9,100 units
Normal wastage 3% 5%

Wastage sold Re. 0.50 per unit Re. 1 per unit

Prepare Process Accounts and Other Accounts.
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13.

@@ CQummer @@mGeun Lig(peDSeTTar <&f LHmiD
<, eow &by et wpuedn FTSSTEDS. @
Sdler afleney en. 2 aigd 10,000 S @&ES6T Ligpenn
215§ uphsLILGSDg wHD Qe seT Spaem_cumm)

Augiisar Lig Bl — i LigBlave — =
a7 apeti@unma 5. 2,000 em. 3,000

50,60 e 10,000 es. 16,000
Cuop@saase em. 2,100 em. 2,375

2 Huggluilen siare 9,500 ww@ser 9,100 i@sar
FNSTTERT G ERTTSHED 3% 5%

cfammereupBler elpuemar w050 g wiws @ 1 @f e

uigblened  SamE@GSET  WHMID QST  SETEHGSEMET
swmfl&ga]b.

Explain the various kinds of Responsibility
Centre.

ueGoumy UGG LI Qurmitiy LD WIS 60 6T
NeT&ESaLD.
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PG-CS-1075 MCOS-23

P.G. DEGREE EXAMINATION —
FEBRUARY, 2023.

Commerce

Second Semester
INTERNATIONAL BANKING

Time : 3 hours Maximum marks: 70

PART A — (5 x 5 =25 marks)

Answer any FIVE questions out of Eight questions in
300 words

All questions carry equal marks

1.  Explain the functions of Reserve Bank of India.

2. Examine the recent trends in Commercial
Banking in USA?

3. What are the functions of Asian Development
Bank?

4.  Bring out the various items included in Invisible

Export Earnings.



® =N o o

Why Foreign Exchange Reserve is important?
Distinguish between Spot Rate and Forward Rate.
Write a note on Global Depository Receipts.

Point out the Components of Foreign Exchange
Reserves.

PART B — (3 x 15 = 45 marks)

Answer any THREE questions out of Five questions in

10.

11.

12.

13.

1000 words.
All questions carry equal marks.

Explain the different types of Lending and
Borrowings involved in International Financial
transactions.

Explain the nature and scope of FOREX Market.

Explain the Role and Function of International
Monetary Fund.

Explain the factors that influence Foreign Direct
Investment.

Explain about the Composition of Foreign
Exchange Reserves.
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PG-CS-1076 MCOS-24

P.G. DEGREE EXAMINATION -
FEBRUARY, 2023

Commerce
Second Semester

ORGANIZATIONAL BEHAVIOUR
Time : 3 hours Maximum marks : 70

PART A — (5 x 5 = 25 marks)

Answer any FIVE questions out of Eight questions
in 300 words.

All questions carry equal marks.

1. Explain the different approaches of
Organizational Behaviour.

Bimieuer pLsaguilen CeucuGoum amiEpennEHMaT
ollaTsGs.
2. Describe the factors affecting Perception.

o anTireneull UME&E@D srreantlsamer afleuflsse,b.

3. What are the factors influencing the personality?

L@ LIMSHEGHD STrenilaeT eremen ?



4. Discuss Job Fit theory.

Couamev Qummsss Cam_um el bl
clleundlése,b.
5.  Explain the Barriers of Communication.

SseUed Oy gL semer 6fleTd@Hs.

6. State the relationship between Behaviour and
Attitude.
BLSMSSGD  ariiumemenos@h 2 arer Csmaniis
FaDe|LD.

7. State the approaches to manage Resistance to
Change.
rHDSS Hemen erdliienL BlreudliLgnamen

@ GPdDES®ETE GO 6 Lb.

8. Suggest measures to manage Stress.
DT D(PS5HSamG HlTeUSLILSHETET BL 6l &HHSHEHMET
ufBgerEse, L.

PART B — (3 X 15 = 45 marks)

Answer any THREE questions out of Five Questions in
1000 words.

All questions carry equal marks.

9. Discuss the nature and importance of
Organizational Behaviour.

Blmieier BLSenagudler SETENLD LHOILD
wsIwsglausamsls UHd edleurdl&sseb.
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10.

11.

12.

13.

Explain the difference between Values and
Attitudes.

DHILSET DHMID HEWIGAPONEEHEE G ean_ulemenr
Caumum’enL elleTé@s.
Discuss the theories of Motivation.

2 BgIsed Carlurhemert uHH eleurdéseab.

Explain Kurt Lewis three step Model of Change.
s qruiev wrHmSHer eperm Ly  wrSlflepw
elaTsGs.

Describe qualities of a Good Leadership.

NG B SMOEMLDEFI eSS 6T (SRS 6T
efleufégayLb.
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PG-CS-1077 MCOSE-21

P.G. DEGREE EXAMINATION -
FEBRUARY, 2023

Second Semester
ENTERPRISE RESOURCE PLANNING

Time : 3 hours Maximum marks : 70

PART A — (5 x 5 = 25 marks)

Answer any FIVE questions out of Eight questions
in 300 words.

All questions carry equal marks.

1. State the importance of Enterprise Resource
Planning.

2. State the wvarious business modules in ERP
System.

3. What are the phases of Business Process
Reengineering?

4. What are the key elements of Organisational
Restructuring?

5. State the importance of Project Team Training.



What are the direct benefits of designing ERP
Systems?

Write about the related Technologies of ERP.
List out the features of BPR.

PART B — (3 x 15 = 45 marks)

Answer any THREE questions out of Five Questions in

10.

11.

12.

13.

1000 words.
All questions carry equal marks.
Explain the benefits and challenges in ERP.

Describe briefly about the functional modules of
ERP Software.

Describe the main functions of Supply Chain
Management.

Write short notes on :

(a) User Acceptance
(b) Detailed Design
(¢) Legacy System Analysis

Discuss the role of Information Technology in
BPR.
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